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Mathématiques

CORRECTION DE LA FIN DE L'EXERCICE E SUR LES PUISSANCES

D =
5603 × 11002

0, 00105−2
=

(7× 23 × 2× 5)3 × (11× 22 × 52)2

(21× 5× 10−5)−2
=

73 × (24)3 × 53 × 112 × 24 × 54

(7× 3)−2 × 5−2 × (2× 5)10

=
73 × 212 × 24 × 57 × 112

7−2 × 3−2 × 5−2 × 210 × 510
= 212+4−10 × 32 × 57+2−10 × 73+2 × 112 = 26 × 32 × 5−1 × 75 × 112

E =
0, 00000882

6303
=

(23 × 11× 10−7)2

(7× 32 × 10)3
=

26 × 112 × 10−14

73 × 36 × 103
= 26 × 3−6 × 7−3 × 112 × (2× 5)−17

= 26−17 × 3−6 × 5−17 × 7−3 × 112 = 2−11 × 3−6 × 5−17 × 7−3 × 112

On remarque, pour le calcul de F , que 512 = 2× 256 = 22× 128 = 23× 64 = 23× 82 = 23× (23)2 = 23× 26 = 29

et 243 = 3× 81 = 3× 92 = 3× (32)2 = 3× 34 = 35. Ainsi,

F = (512× 0, 0000364)3 × (0, 2432 × 905)−1 = (29 × (22 × 32 × 10−6)4)3 × ((35 × 10−3)2 × (32 × 10)5)−1

= 227 × 28×3 × 38×3 × 10−24×3 × 310×(−1) × 10−6×(−1) × 310×(−1) × 10−5

= 227+24 × 324−10−10 × (2× 5)−72+6−5 = 251 × 34 × 2−71 × 5−71 = 2−20 × 34 × 5−71


